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One, whose head and majority of his body, enters into drawn water
or a pure person upon whom there fell, etc.

OVERVIEW
The &n»12 distinguishes between a v (who becomes &nw if 121 1°%¥ 1991) and Ran
12112171 1wXA. Our MdOIN explains this XN*72.

— (3, 91 NAYT NP 993 19509 991
This is how the text reads in the first P95 of naw noon, as we have it here that there is

a distinction between X277 (where 70 is not mentioned) and 1791 (where 170 is mentioned) -
— 299991 NPT 910 DAN 19932 19 U2 NN 19T NPT oy 9130 Yy

For only regarding a 21 912w did the o°non decree that by (partial) immersion
in D°2WW 01, the 01 7120 becomes Xnv, and he certainly becomes Rnv if three 1217
o2Rw 2°» fell on him; however a person who is (completely) M0, becomes Xnv

112777 only if 22w 21 fell upon him, but not if he was 2°21Rw 072 X2
— 1190 79 AYYNY DIVN N932 1990NNT PN 13929 99N NIYLH

And the "9 explains, the reason the 0°»>n were stricter regarding 7%°21 than

X277, is because this is what actually occurred -
A(MA0Y 777 3,3 naw Mavin Hey 1)PAINY 03 PIY DYV (19523 HY D39%a9) 197 BNN INTD

As the X3 relates there (in naw noon),* and they would pour on them three
735 of “mraRw 2.’

SUMMARY

"' A ov 91w is one who immersed himself in a 7p» for 7770 (from a YW, etc.) and is waiting for sunset to become
completely 117w, A v 912v cannot eat 712170 (and certainly may not enter the w7pn or eat 2°w7p) until wnw 217v:.
* See X271 "7 >"w", where "1 states v Xw3; indicating that he disagrees with n1ooin.
3 The marginal note amends this to read '0%y 021011, instead.
* X,7 7. The X there relates (cited here in Xnv 71"7 >"wn) that originally people were 221 in caves where the
waters were foul smelling and after the 79°2v they would pour on their bodies three P2WRw 21 P22 to remove the foul
odor. Eventually the masses assumed that it was the three P2 that accomplished the 777v and not the mpn.
Therefore the 0°n5n decreed that anyone (not only a 01 2120) who PIRW 2°1 127 '3 199 1991 should be xnv. However
by a 01 7120 the 0°non were stricter and extended this 77°13 (not only by 1291, which was the cause of the 7773, but) to
also include 2 21w 2’12 131 X27.
> Water which was drawn (2XWw) in a utensil cannot be used to make a mpn.
® Initially the 771 should have been limited only to a @1 912v (for he is the one who was 210 from ax®w and we
want to assure that it would be a proper 717°2v, not with 0°218w), however the 0’31 extended the 7713 to everyone
(even a 717v), as the Xn3 states there X771 X7 °X7 (if there would be no decree by a 117v) then R X1>9p X7 (the decree by
a ov 712v would not be upheld). However, they limited this 7773 to 719°01 only, because 1°77 72 Iwy»w but not to X2a:.
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The 77°13 of 7901 applies to a 7w and a v 712V (because 7°7 72 TwWYHW); however
the 777°12 on 121 X277 is only for a oy Paw.

THINKING IT OVER

Is the reason the 2°n51 did not extend the 77°T3 by a MY to 22 12171 WK X127
D°2WW (to make the 77°13 equal for all) because it is a 771°132 77°1) or because it is a
73 TMYR PRI MAXT PRY 77102

" See 1"mn and n"m1.
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